No. / (No. i U %5/ 42 il F A 80

[ ]

N =57 = a — K - =
28 FE SEEBIH W - 551 HR 6 B 20 B(X) |pr 2 - 2%
2REE (452) B HEER - 2E R comiciEmsnn | (@D 2TRET
e L = | BaR BareT | 2. 2TEHH
%&% Al(ﬁ‘%i{téﬁ) F%*E HaER 1 e s A RHFEAELET, 3. —EREFE
HRE - — b (8-
Jp-) - BEE-BS
pEEs —  |E% 1R AT - WE
Zzoft ( ]
ROFHEATRED &5 2 HIE L, AREARBEICIET DA &
3 1 =2 2 -1 3 2 -1 3 3 1 =2
(1) 5 2 3 -1 -3 2 (2) -1 -3 2 5 2 3
2 3 -3 4 2 -3 4 2 -3 2 3 -3

RD A DR E KD, WATHIDFAET 20HE L, WITHPFET 2HEaKD XK.

(1)

s
I
— N
o= w

NWwW N




No. / (No. i U %5/ 42 il F A 80

[ ]

N g7 = 4 B — =
28 FE SEEBIH W - 551 HR 6 B 20 B(X) |pr 2 - 2%
2HES (452) Y E | NEEN-PE B yg e comcmRran |@ 2TRHA
AR N ETYS ; 2. £THA
s . P 5 Tliman. BREeT <%
Eea Al(ﬁ‘%ﬁ:ﬁ?;ﬁ) AR HomER 1 4 BB A | rErET L L 3. —psFE
BRE -/ — N (A%
aE-)  sE® - E
YEES —  |E% iR AT - HE
Zzofs ( J

z+ 2y— z= 2,
(1) 22+ 4y— 6z= =8,
3z+ by— Tz= -8
20+ y+ z= 2,
(3) 4o+ 2y+ 3z= 5,
224+  y+ 2z= 3.
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224+ y+ z= 0,
4o+ 2y+ 3z= 0,
224+  y+ 2z= 0.
3x— y— 2z= =5,
—2z+ 3y— z= 1,
—r— 2y+ 3z= 3




